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Testing Environment

1. Testing Environment for CTIP
2. Introduce Allpairs



Testing Environment(CTIP)

[OS] Windows7
[Language] Java
[Unit Test Tool] JUnit
[Build Automation] Ant
[SCM Tool] Visual SVN(Subversion)
[CI Tool] Hudson-2.2.0
<WAS : Tomcat 7.0>
[RE Tool] JFeature



Testing Environment(CTIP) cont.
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Pairwise
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Pairwise(cont.)
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airwise -Allpairs

v Allpairs C}I22E
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Using pairwise techniques in testing? Join Combinatorial and Pairwise Testing group...

Pairwise Testing

Combinatorial Test Case Generation

Pairwise (a.k.a. al-pairs) testing is an effective test case generation
technique that is based on the observation that most faults are caused
by interactions of at most two factors. Pairwise-generated test suites
cover all combinations of two therefore are much smaller than
exhaustive ones yet still very effective in finding defects.
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Pairwise -Allpairs

v Allpairs C}I22E
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A — Available Tools
1 pairwise :: HiO|H| E3tZA%
1. CATS (Constrained Array
: 2 T Sherwood] Bell Labs.
Using pair Test Systern) ™ [ ]
2. OATS (Orthogonal Array
= Phadke] AT&T
Test System) ! [ ]
3. . Web-based,
AETG Telecordia commercil
4. PO (PairTest) ™! [Tai/Lei]
5. TConfig [Willams] Java-applet
. TCG (Test Case Generator}
o I}CG Test Case Generator NASA
7. AlPairs Satisfice Perl script, free, GPL
L, 8. Pro-Test SigmaZone GUL commercial
9. CTS (Combinatorial Test IBM Free for non-
Services cormmercial use
10. . Command-line, free,
S [Jenkins] public-domain
] 1 I I
2 1 2 2 Available Tools
3 4
4 2 2
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rwise -Allpairs
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Pairwise -Allpairs

v Allpairs txti}e! =M =0|A}Et
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Pairwise -Allpairs

v Allpairs A=
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Pairwise -Allpairs(example)
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15t Testing _Team1

1. Program Introduction
2. System Testing
3. Test case example



ntroduction

|£| Selecte Parking Mevigation System ver( |. = | B 2
e ————

A I ZIF 2} nl 1 Enter mode Exit mode Admin mode 12?.0.0.1| LC = MEHGEHI R!

L t:@ R |
assword : 5 Login
o8-8 F4 A 7L o, ki +
Exit mode &t Enter mode %t
- Type Car Humber AN ZE HEE

— g - .
Admin mode &t - |

2t= Method AME
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m 1 System Testing

v Problem.1 Sort data

I | 1

Select Fee! Extra Information Modi... Password Modify! Find data!

| Sort data! | Change Location!! % =

| £ Selecte Parking Mg > : ver.0 -
e — | e
=L 3ot

0 - 54%#2 7|21H}2456%201205011500% 5 71! 1; ;2|s :m;t;,
1 01%2 7|37LH564#201205110020164 Z FHE! iz - 35is empty
2 - 30%2 7| 37LI55544201205102334 128 Z FHE! 49 35is empty
3 - 40%2 71400 }3212#201205031 307004 T 7=l
4
5

- 4487 J140LF3212#20120503 1307068 5 1= | :3 jg:i Emsg:
T 45#E J140LF3212#20120503 1306448 5 T 52 - 41is empty!
|6 : 4323 714001 F3212#20120503 1307038 2 R £3 - 42is empty
7 4083 7]40LF3212#20120503 1306484 T K= E4 - 43is empty
8 518 J|40LF3212#20120503 1307 224 T K= £5 - 46is empty
0 5283 J|40LF3212#20120503 1306594 K= 56 - 47is empty
10 - 5383 7140L12212#201205031 306508 = HHE "5? 50is empty!
11 56&E J40LH32128#201205031 306568 2 FH=! - Eris Emswi
12 ; 5783 71400L}3212#201205031306548 % T}= 59 - 59is empty!
13 ; 59#E 71400L}3212#201205031307 1185 F}=

A4 - 2R HLEFI0O04 4998204 N En4 noad ns 7 TLE|




System Testing(cont.)

Select Fee! Extra Information Modi... Password Modify! Find data!!
Sort data! Change Location!! <. =
= 2F Ol X
Lot.59(3% 19H) K2 QIEFA|

[ [&] Selecte Parking Nevigation Syst 0 — [ ——

o SeleaParking Hedfy e VeI - | £| Selecte Parking Nevigation System ver.0 —

= SR i
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EHFAN ESHalN

By O PR s B
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2 - 3082 | 3TLIS5544201205102334128 = 7= i|4€ - 35is empty!
‘|2 - 4082 71400 122124#20120503130 7002 % T §|49 - 36is empty!
"4 - 448271400 }2212#201205031307 064 = R W50 : 37is empty!

5 - 4582 7|40L 3212820120503 1306448 = R 2 o1 38ls emply!

I6 - 4582 7140L13212%#20120503 1307038 = A= 52 41is empty!

7 - 4082 J140L13212%#20120503 1305488 T R = 93 1 42is empty!
| 1 5182 7140L13212#201205031307 224 5 7€ 54 : 43is empty!

|9 - 5282 7140L13212#20120503 1306504 = FHE! *|55 - 46is empty!
(10 - 5322 71400 122122201205031306508 = 7= ()26 - 47is empty!

11 : 5682 7140L}3212#20120503 1306568 = A2 37 - 50is empty!

12 - 57#AJ|40LF3212%201205031 206548 = T = 58 : 55is empty!

13 - 5882 71400 13212#20120503 130T 112 THE RO - ROFA 1150704201205 110020388# 2 TH=

A4 - 22 H 200449289043 nENAn 34 ns 7~ 7L




stem Testing(cont.)

oblem.2 Enter Path
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stem Testing(cont.)

Eﬁj Selecte Parking Mevigation System ver

Welcome SHP System!! To Server

’
FAE
® TIN5 A 33012223
ﬁil# == | 124 5 A2
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- SN SE HIE U O2 oM R,
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Select Fee! Extra Information ... IES BT L.
i EEZOCCIHONE.
. Sort data! Change Location!
P R i 0|




1 System Testing(cont.)

v Problem.3 Print Receipt

Elote [rking Mra alian Syt verll = - ==

Fee : 1000

0 M| A AFO| Exit mode %
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— &
léj Calecte Park’mg N,E'v[gaﬁnn SFS_

Fee : 714000

] input : 0 A AHA| UserExite

Exit Car 98 = 3} M

change : 0

Print receipt o -| ===
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Team 1 System Testing(cont.)

v Problem.4 Parking Lot =Al=

SR CEstEelgte ErrEE ol gl ’ - BN

o7l BENASHASHASNAR A& 7L #4 £22 Tagust.

Sl par e oF
10& 4 ES0LFSR25$ 201205021 2088 = ap=]
128N WS4} TT7T#20120502 1 2458 =a1=]

1B#7 71404321 2#2012050313082 1 8 525

B s |
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ystem Testing(cont.)

roblem.5 Change Location

Select Fee! Extra Informaton ... Password Modiy!

Find data!!

.o
X

L

hange Location!!

X Bt ASLICH

Change Location 2™




m Testing(cont.)

[IXI0F BERASLICH

Sort data! Change Location!!

[FIXIOF BERASLICH




Team 1 Test Case Example

v Test Code

“ V3 - team 1_1e5UschSuWﬁdm|nTest ava - Eclipse SDK I =
or Search  Proj Run Window Help
5 - B %-0-Q- w6~ oy POEN H-Froera - £ &0 Team &
2 pa [guu =2 = B[ [4] parkingareajava [4] ExitSync.java [4] ParkingLot java (] AdminTestjava 53 ™ ™7 = Bllo =
Finished after 0.015 second: = 9 -
18 public class AdminTest {
8 CH . =
B & 11
- . 12 Admin admin = new Admin(null}; w @
@ =T 13 File readfile = new File("password.txt");
14 String testPl; 8
Runs: © Errors: B Failures: 15 “
@Test G

public woid testLogin() {

FiE] Survice AdminTest [Run

a5 5y

Test:Code Bt = |

while((temp = br. readLlne(jj = null) {
testPW = temp;

} catch{Exception e) {

}

assertTrue(admin. login{testPi));

¥

2 @Test

3 public woid testchangePW() {
B testPl = "password”;

35 admin.changePW(testPuW);
4 1 3 36 assertfquals(admin.adminPll, testPW};
= Failure Trace 5 }

39 @Test

48 public woid testchangeEL() {



Team 1 Result Report

Progressing

» Re-building for CTIP Environment..

-
_

Hudson # 1stTesting teaml

®» Back toc Dashboard

Project 1stTesting_teaml

Status

# Changes
b Workspace
i...i) Build Now

@ Cielete Project

Configure )
& é»;i-‘ Eecent Changes

£ Build History (trend)
T — —3l



15t Testing _Team4

1. Program Introduction
2. System Testing



Team 4 Introduction
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Team 4 System Testing(cont.)

v Problem — E-mail 2l1&A! =7}
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To be continued on 2" Testing..



